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Given a quadrilateral ABCD whose interior angles are tabulated in the table below. Adjust the
angles so that they satisfy the geometric conditions as well as the trigonometric condition of the

triangulation network. ( 30 points)

1

s 40 17 25 ‘
Ky 49 28 13
2 29 49 25
0 39 40 09
3 61 02 17
s 30 14 32
3 49 03 14
D " . o
A 3




1) ‘Given A and B are two Control Points whose coordinates X, = 3,300.259 m., Y, = 3,082.183 m.,
X, =3,369.287 m. and Y, =2,890.830 m. respectively. P is an unknown station where the

coordinates X, and Y, are desired. The horizontal angles ABP (0.) and BAP (8) were measured in

the field. Calculate the unknown coordinates_ X, Y, from the given field data. (15 points)

B A L 302° 25" 20”
P . L 221° 07’ 40"
P R 041° 07’ 35"
A R 122° 25 117
A B L 075° 43*27” ]
P L 140° 15° 547
P R 320° 15° 59”
B R 255° 43" 30”

2) Name and explain the types of Triangulation networks that are frequently deployed in Control
survey. Also discuss the advantages and disadvantages of each’particular type. And what is a
Laplace Station? (15 points)

3) From the given coordinates of the three control points L, M and R, compute the unknown
coordinates X, and Y. Given the measured resection angles L?M (o) =20° 05* 53” and the
angle M?R (B) = 35° 06’ 08" respectively. (30 points)

20,000.000
M 16,672.500 20,000.000
R 27,732.760 14,215.240
4) What is the differences between the procedures of Intersection and Resection? Discuss the

advantages and disadvantages between the two methods. Also compare both methods with

Traverse and Triangulation techniques. ( 10 points)



